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MATHEMATICS

CLASS X
TIME: - 90 MIN.







 M.M.50

Q.1.
Using quadratic formula solve the following equation for X: -


abx2 +(b2-ac)x- bc = 0

Q.2.
If (x+3)(x-2) is the G.C.D. of: -



f(x) =(x+3)(2x2-3x+a) and



g(x)=(x-2)(3x2+10x-b)


Find the value of a and b.

Q.3.
Solve the following system of linear equations: -


x/a-y/b=0


ax + by=a2+b2
OR


The sum of the digits of a two-digit number is 9. Also, nine times this number is twice the number obtained by reversing the order of the digits of the number Find the number?

Q.4.
The 7th term of an A.P. is 32 and its 13th term is 62. Find the A.P.

Q.5.
A man borrows money from a finance company and has to pay it back in two equal half-yearly installment of Rs.4945 each. If the interest is charged by the finance company @ 15% per annum compounded semi-annually. Find the principal and the total interest paid.

Q.6.
A fan is marked at Rs.970 cash of for Rs.210 cash down payment along with three equal monthly installments. If the rate of simple interest charged under the installment plan is 16% per annum. Find the amount of each installment.

Q.7.
Solve the following system linear equations graphically: -



2x+y+6=0



3x-2y-12=0


Find the coordinate of the vertices of the triangle formed by the two straight lines and the X-axis.

Q.8.
Show that the points (a, a), (-a, -a) and (- √3 a, √3 a) are the vertices of an equilateral triangle.

Q.9.     The number of student in a hostel speaking different language is given below. Present the data in a pie chart.

	Language
	Hindi
	English
	Marathi
	Tamil
	Bengali
	Total

	Number of students
	40
	12
	9
	7
	4
	72


Q10.     If the mean of the following data is 21, find the value of P.    

	x
	10
	15
	20
	25
	35

	f
	6
	10
	P
	10
	8


Q11.     17 cards numbered 1,2,3…. 16,17 are put in the box and mixed thoroughly. One person draws a card from the box. Find the probability that the number on the card is: -          

(i) Odd     (ii) a prime   (iii) divisible by 3   (iv) divisible by 3 and 2 both 

Q12.     Prove that in a right-angled triangle, the square of the hypotenuse is equal to the sum of squares on the other to sides.

Q13.     Prove that the angle subtended by an arc at the centre is double the angle subtended by it at any point on the remaining part of the circle.

Q14.
Rajan has an annual income of Rs.5, 20,000(excluding HRA). He pays an annual premium of Rs.20, 000 for  his life insurance policy,  invests Rs.20, 000 in national saving certificates and contributes  Rs.5, 000  per months  to his  provident fund. He pays Rs.11, 000 per month for 11 months towards income tax. How much income tax has to pay in the last month
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